MAT1500-04/06 04F Quiz3  Print Name (Last, First)

|
Show all work, including mental steps, in a clearly organized way that speaks for itself. Use proper

mathematical notation, identifying expressions by their proper symbols (introducing them if necessary), and use

arrows and equal signs when appropriate. Always simplify expressions. BOX final short answers, LABEL
parts of problem. Keep answers EXACT (not decimal approximations, if possible).

© [im xIn (x+x?) x= [4.0,05,0,l,0,05, 0,0}, 0,08, 600L]
a) + -
x;u:ss the value of the limik (if it exists) by evaluating the function ot the
given numbere conrect 1o six deameal places (makea uble of your results),

L) Does a plotseemto wnfirm your guess 7 Make a rough skekehy (with Hckmacks
\qbeled) of what you see

[c;) OPTIONAL whot-ig the o\.omcilr) c:F‘Hﬁis ﬁAnc:hc:h 7 ]

@ TF an arrow is shol” ypward on the moon with a velecity of 5B m/s; its heght
y in melers afler t seconds is gven by y = 5BE - 0.83t %

a) Fnd a 'ﬁ)rmulo. ‘ﬁar"ﬁ’ic: averuge \Je\oci’nj over the hime inaterval ﬁ'vm t=1 4o t=14+h,

b) Now evaluate {w— h= ﬁ@,@.g",ﬁ.\)d.m)ﬁ.boi] (nake atable of ysus vesulls)

c) CGuess the mstantaneas ve'Lua\-B at t=A. (u-r-:r'r.s M

“‘r)“ do ma’m'.
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Tx [ fo | X 2 % Xx+ 7o
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o< 6143541 plo’k- y = w (x44)

0 0. 2727
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€ ylen~y(0) | 58(1+h) — o;a%(nmz_- IELIQ) uo.fa;(l)llk
a) Nae = "—"T—"' = T~ :

B} b | Vag | <) Lodes Wke about N 5¢.34 m/s\
1.0 | BE5.6) ‘
0.5 [55.925 NOTE ! Had we simplified our ex?vesst-in we roodldl have found:
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